R.6 Challenge
Honors Algebra 2 with Trig
1. NCTM

If the binary operation A is defined as

aAb = @? + 2ab + b, evaluate 37A63.

oAb =l +2ab+0?
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2. NCTM Jan/Feb 2018 #10

Define the operation @ as follows:

a@b = (2a - b)? for any real numbers
aandb.

Find the value or values of b such that

2@(4@b) =25.
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3. NCTM Nov 2015 #25

The product
i8-316
can be expressed as 2". What is the value
of n?
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4, NCTM Nov 2015 #30

Write the following numerical expressions
in order, from smallest to largest, without
using a calculator:
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5.NCTM Dec/Jan 2014/15 #4

Simplify:

8174 — /32 +3+9° 4+ 3. 27*
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